Copyright Lappset Group Ltd

% LAPPSET.
ASSA AREENA

080840M

DATE: 1.3.2018 1(5)
(1) 708382 |pcs|(2) 702269 |pes
DET 17 P2 702269 )
2]y Y
S
/ ®
N DD
DET 7 45x95x955 | | 10x125x620 | |
o 704241 [pcs|
S s sv S "“" L
& m”l i lir‘ |
Il 04
Mz
P 5 % |
s By e 1000x1995
§on Lty O’l//? g (6) 704245 Jpcs
PR D 5
g DA 2
8 s5e5
q 00!
et
esech! |
sfi’l=i=i s 70x95x2975
gegege! 704250 [pes
ifglg®> e
g2 [
=7 / 4]
,..g’f‘ 2 /

i
> R,
/\ .
% .
1 :
A L1 L
PP P e
P
2P aPa
%%
1 M1
a1 L1
PP P e
P
1 1
A L1 L
2P aPa
g%
1 A1 A
A L1 LA
aPZ 9=
1 L7/
’///
e

; "':lt / ]
DET 18 & 1000x1995 982x990
(9) 904900 |Pes|i0) 704563 |pes
4] 1
DET 14 L : -
45x45x3x875| 1150x3160x210D
(1) 707204 |pcs|(i2) 707208 |Pcs|
2 T
4"'/ ] ]
15x814x992 | | 15x814x925 | |
(13 P12530 |pes|i4) 900240 |pcs|
2]
L1250 | | @8x70 | |
1G5 900965 |pcs(i6) 901302 |pcs|
4 28]
@
Mo | | @20/10.5x2 | |




Copyright Lappset Group Ltd

% LAPPSET.
ASSA AREENA

080840M

DATE: 1.3.2018 2(5)
(17) 904133 |pcs|(18) 904800 |pcs|
26) 2] 2]
24 =
N DET 3
\\ M10x80 GL75x1-3,5
‘ (19 904899 [rcs|20) 904911 [ecs|
. u / n
/@ &
260x2.5 | | Mi12x120 | |
(2) 905051 |pcs|29) 906829 |Pos|
52] 8
(2| | &
)
@24/84 | | Miox2s5 | |
23 907843 |pes|24) 908069 |Pcs|
@ 4] 2]
‘
%0
o76x90 | | w@eoxsze | |
29 908070 |[cs|2) 908071 [Pcs|
2] 2]
I -
@76,1x2965 @76,1x2945
Pes|28) 909203 |pcs|
8] 6]
Mex100 | | wmax7s | |
909205 [Pes|30) 909248 [pes
120] 10]
N w“‘\‘\
)
Foundation is Option ) | |
M8x60 M12
i (3) 909256 |pcs|32) 909633 |pcs|
z 32] 12]
@/ &y
DET 10 - -
216 /8.4x1.6 M8




Copyright Lappset Group Ltd

% LAPPSET.
ASSA AREENA

080840M

DATE: 1.3.2018 3(5)
(33 909852 [pcs|G2) 980107 [pes]
(&) B
>
B +3000 /
M8x30 | | @exe0 | |
@5 980122 |pes(36) 980123 [pcs|
4 32
| +2130 - ]
Vi o5x30 | |  e7x60 | |
I 980128 [pes(38 980150 [pcs|
/ 120] 6]
/ - ©)
/ Naw/
i
@7x40 M8
, (39 980152 |pcs(ag) 980154 |pes| -
‘ P +0 52 16
1200 \ )
Foundation is Option
p24/8.4x2 | | @24513 | |
980160 |[Pcs
B
©@
N/
me | |
@3 909850 [pes|@4) 904917 [pes
2] il
P /
7400 . .
M8x25 M10x100
= — — — 702634 |pcs|@g) 702341 |pes]
[ = =
i = = s MAINT
+
12
H H - -
HAHHHEHA HHHHHHHA 90X50 90X50
(47 909143 |pes|@g) 905067 [Pos|
6 6]
Mi2x80 | |  sssH | ]




Copyright 1998 Lappset Group Ltd

% LAPPSET.
ASSA AREENA

080840M

DATE: 1.3.2018

4(5)

@6

M12 (902234) /

226 /13x3 (980165)

DET 1
U M12x120 (904911)

R 8o
ﬁ \
g M10 (980161)

DET 3
M10

220,/10.5x2
(901302)

©20/10.5

908070

©20/10.5
Foundation is Option M
Foundation is Option
DET 6
DET 4 191 20 DET 5
(9@592248) @ 904917 M10x80 (904133)

B

/"\

o
9
\W
@24 /13
(98m 54) 220/10.5x2 (901302)
DET 7 DET 8 924/8.4 (905051) DET 9
M8x60 (909205)
904800 |\l o
o
0 @
0 6‘\@
’lo, i 28x70 (900240
)} 0y
DET 10 909529 DET 12
?7x60 (980123)
224 /8.4 (905051)
M8 (980150)

(980152)

M8x100
909117)

M8x75 (909203)




% LAPPSET. 080840M

ASSA AREENA DATE:  1.3.2018 5(5)

DET 13 DET 14
S35H B52
905067 M8 (980160) |
f ?24/8.4 (980152) 28)
0@ (@)
N\ M12
M12x80 909248
909143
@24/13
980154
DET 15 DET 16 DET 17

LU | g o16/8.4

@7x60 (980123) @ﬁb‘ T (909633)

el | | pelL

?5x30 (980122)

DET 18

©20/10.5x2
(901302)

i

/4

Kiimwo

(900965)

(900240)

Copyright 1998 Lappset Group Ltd




704563

DATE:

% LAPPSET
ASSA AREENA

1(3)

18.6.2015

8| g || | [8]2] HEN | 18] | HEN | 18] | HEN
a a a | « a - a [a a
~ o™ 00
© o | N On/_ e}
0 — | — @ |~ <
< 2 x [ < x
o X | K| o Y ©
N~ —| O ISENe)] \ ©
® " ® ©
wn wn [72) wn wn w (%) )
gl glw| HEE HEN HEN HEN HEN | 8] |
o Al o o a o a o a
o
— < |o M
© XN 00 S
e} oln AN o
< [RKe)) ~ ©
o — O o X
N 4 2o ~ )
O g
© 2|® ©
A DA LI/
9 8 9 w/@ . i .0/ N
/ AT _X—F%<
NAMAAAA NN NN NN ASPTITTNNAHF AL NN\

ANAVAVAVAVAVA VA VA VA VA VA VA VAN

ANAVAVAVAVANA VA VA VA VA VA VAVAN

R A RS~ 7
SRR 1
1)4?0@%%%»%»1»‘i\
A A X X X ¥
EAvAva I

XA T XX XX N\ N\

7 /A
SRS XX XIX

AN\

JAVAVANANAN

ANAVANANAVANAVANAN

PAVAVANA VA VA VA VA VA VA U WA WA A

ANAVAVAVAVANAVANAVAN

ANANANAN
¢

g g g

p11 dnogo 1ssddoa yubuldon
v,

L | T LI A



704563

% LAPPSET
ASSA AREENA

2(3)

18.6.2015

DATE:

Det 1,2,4

P dnods JDDll.JI"

L A1 JT




% LAPPSET

% L. 704563
ASSA AREENA DATE:

Note! Rotate clip around if you have to
tighten the rope.

/0/285

/P
L

18.6.2015 3(3)
DET 1 DET 2
909529 40 %
B JEEEL @7x60 _
(980123) q ®
6
i3 |
DET 4

DET 5 Goal net needs to be
fixed with an additional
rope. Use cable ties to
ease the fastening.

Maaliverkko kiinnitetdan
ylimddrdiselld narulla.
Kdytd nippusiteitd
kiinnittdmisen apuna.

904728

DET 6




% LAPPSET.
ASSA AREENA

707215

+ | 4+ O
TC COppPSttT oroup g

SR ;\dl

3200

DATE: 25.5.2015 1(2)
(1) 900844 |pes|(2) 903149 |pcs|
4]
@260x5 M12x30 | |
(3) 904918 |pes|(4) 904919 |pcs|
2]
1535x100x60x4 | ©88.9x530 | |
(6) 909136 |pes|
10]
288.9x610 M12x180 | |
1@ 909139 |pcs|(8) 909144 |pes
2

470

2950

1850

3330

=

M12x130

—

M12x220

909248

M12

909519

50x380x380




% LAPPSET.
ASSA AREENA

707215

DATE: 25.5.2015 2(2)
DET 1 DET 2 DET 3 M12x130 (909139)
Il M12 (909248) H
R AP N T

7
‘ o

Wl

)
=, ®

@24/13 (980154)
M12 (909248

DET 4

M12x220 (909144)

024 /13 (980154)

DET 5

K\\\\\\\\ @24 /13 (980154)
M12 (909248)

DET 6

M12 (909248)

/

DET 7

M12 (909248)

+ Or

'II('\('IQ | o

st
LA LERS

TooCOpp Sttt ot oup—=tC

)

FOPYS




Copyright Lappset Group Ltd

% LAPPSET. ARENA FOOT
DEEP FOUNDATION  oart 2201 1(1)

NN
NERSNERN N NIRRT
\\ AN\ N N N
N N N N ASN
NG b
NN
O NN NN N S
N \\\\ NN /
\
~ N
7/ s \\\ //\
v ~ ASN —_




% LAPPSET.

702220

ASSA AREENA DATE:  7.10.2020 1(2)
(1) 902433 |pes|(2) 902299 |Pcs|
ﬂ 1 1
(3 903149 |rcs|(2) 909248 |Pcs|
| 4] i

(o ®
< Mi2x3o | | w12 | |
(5) 980154 |pes|(6) 900240 |Pcs|
8 6

ARENA SIDE

@24/13 | |  e@sx70 | |

Copyright Lappset Group Ltd




RLAPPSET. 702220
ASSA AREENA DATE:  7.10.2020 2(2)

DET 1

Inspecion hole

M12x30
903149

\_ M12

924/13 909248

@o 980154

DET 2 ARENA SIDE

A

900240

Pre Drill ;e \ r - Pre Drill

Esireikd @5mm

Esireikd

Copyright Lappset Group Ltd

800

100

590

400

200
240

V

140

Foot
center

@4




16.2.2021

LApp
Halite 178 ET Groy

10 PL
FINCARSVANIEN, td

Loy
gg;g«e% broup L1
PhOVANH

‘E}Sﬁ I'.J.:‘menm

123456
I Wi
F5675g

FSe7my F

e,
et a1

Tuotekyltti tulee tuotteen mukana yhdella seuraavista tavoista:

1) Metallinen tuotekyltti ja kiinnitysruuvit
- Kiinnita tuotekyltti ruuveilla tolppaan noin 2 metrin korkeuteen kuvan 1 mukaisesti.

2) Tuotekylttitarra
- Puhdista maalattu metalli- tai vaneripinta pdlysta ja kosteudesta. Liimaa tarra kuvan 2 mukaisesti.
- Huom. Al3 kiinnité tarraa karheapintaiseen laminaattiin tai maalattuun puuhun.

Var produktmarkning levereras pa ett av foljande satt:

1) Produktskylt i metall
- Fast skylten med de medféljande skruvarna

2) Sjalvhaftande produktetikett

- Rengor den pulverlackerade metallytan eller laminatytan sa att den blir fri frAn smuts och fukt. Fast etiketten enligt fig. 2.

- Obs! Fast ej etiketten pa detaljer med skrovlig yta eller pa malat tra.

Product label is delivered by one of following ways:

1) Metal product label and screws
- Fasten the label with screws.

2) Label sticker
- Clean the painted metal or plywood surface from dirt and moisture. Fasten the sticker as shown in the figure 2.
- Note. Do not attach the sticker to rough surfaced laminate or painted wood.

La plaque d’informations produit est livrée sous I'une de ces 3 formes :

1) Plaque métallique et vis
- Fixez la plaque a 'aide des vis.

2) Etiquette autocollante

- Avant de coller I'étiquette, nettoyez le composant métallique peint ou la plaque de contreplaqué, de toute saleté. La surface

doit étre seche (voir image 2).
- Attention, ne pas coller I'étiquette sur une surface lamellé-collée irréguliere ou sur du bois peint.

Die Auslieferung des Produktaufklebers erfolgt auf eine dieser Arten:

1) Produkt-Schild aus Metall incl. Schrauben
- Die Befestigung des Schildes erfolgt mittels der Schrauben.

2) Aufkleber

-Entfernen Sie zunachst Schmutz und Feuchtigkeit vom lackierten Metall bzw. von der Holzoberflache und bringen Sie den

Aufkleber wie im Bild oben rechts beschrieben auf den gesauberten Untergrund auf.
- Beachten Sie: Bringen Sie den Aufkleber nicht auf raues laminiertes oder lackiertes Holz an.

LAPPSET GROUP LTD P.O. Box 8146 | FIN-96101 Rovaniemi | Tel: 0207 750 100 | lappset@lappset.com | www.lappset.com



% LAPPSET. 080840M

ARENA GOAL DEEP DATE:  16.3.2018 1/2

1: 50
I 000
0 2
1000 1130 2950 | 1230 900

|
0]
s D0
Q)

I L]
1000 1180 1180 1000
I |
7410
1:50
| I
) =l : )
[Q\

NP N

Copyright Lappset Group Ltd




080840M

DATE:

% LAPPSET.

ARENA GOAL DEEP

2/2

16.3.2018

A\

p311 dnou9 3yosddp yybrkdo)





